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1. (a) “Limitations of financial accounting have made the
management realise the importance of cost accounting.”
Comment.

‘R @i B HeT ¥ ST Y A EieT
? Ogd & Uedrw fgar fRar ) feueh ifgy s
(b) Hari has started business with a-fleet of 10 taxis. The

various expenses incurred are :

Cpst of each taxi —Rs. 75,000; salary of office staff — Rs.
1,500 per month; salary of garage staff -~ Rs. 2,000 per
month; rent of garage — Rs. 1,000 per month; Driver’s
salary (per taxi) Rs. 400 per month; Roa‘d tax an(i repairs
(per taxi) — Rs. 2,160 per annum; Insurance premium @
4% of cost per annum.
The life of a taxi is 3,00,000 km, at the end of which it is
estimated to be sold for Rs. 15,000. A taxi runs on an
average 4,000 km per month, of which 20% it runs vacant.
Petrol consumption is 9 km per litre of petrol costing Rs.
6.30 per litre. Oil and other sundry expenses amount to
Rs. 10 per 100 km. Calculat.e the effective cost of running
a taxi per kilometre.
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(a) Distinguish between «cost’, ‘expense’, and ‘loss’.
arre, = e ey § e AR 5
() Y & Co. undertook & contrac't for Rs. 15,00,000 on an
arrangement that 80% of the value of work done s certified
by the architects of the contractee, should be paid
immediatelyand the remaining 20% be retained until the
oonﬁ'act is completed.
In 2014 the amounts expended were : Materials Rs.
1,80,000; wages Rs. 1,70,000; carriage Rs. 6,000; cartage

Rs. 1,000; sundry expenses Rs. 3,000. The work was
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certitied for Rs. 3,75,000 and 80% of this was paid as
agreed.
In 2015, the amounts expended were : Materials Rs.
2,20,000; wages Rs. 2,30,000; carriage Rs. 23,000; cartage
Rs. 2,000; sundry expenses Rs. 4,000. Three-fourths of
the contract was certified as done on 31 December and
80% of it received accordingly. The value of work in
progress uncertified was ascertained at Rs. 20,000.
In 2016, the amounts expended were : Materials Rs.
1,26,000; Wages Rs. 1,70,000; cartage Rs. 6,000; sundry
expenses Rs. 3,000 and on 30 June the whole contract
was completed.
Show the Contract Account and also the Contractee’s
Account as would appear for each of years in the books
of the contractor assuming that balance due to him was
received on completion of the contract. )
Y & Co. ¥ 15,00,000 Fo & & g~y forar | =waen
T5 4t f& Tf feu Fd, it SwR@r & IRGER B
JIRT BT B, R e H 80% P g S ©
T A 20% ST qU BN TF AT A |
2014 § =@ & T R & qEEl 1,80,000 Bo;
gl 1,70,000 To; TS 6,000 Fo; WIST 1,000 To, -
e =@ 3,000 Bo | 8,75,000 To HT HE FARE

4

A

fa T AN e 80% FI, T gat & S EE, B
o @ T i .
o015 & @@ @ T ofer o : wwndt %o h,20,2(:;,‘
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2. (a) Whatis absorption of overheads? Explain briefly methods

for absorption ofOffice and Administrative overheads. -
Saftardt &1 @IS T/ grar 32w e
v SaRedt & sragiver @ faftrdt & FRE 7
5

FoTEd |
(b) The total overhead expenses of a factory are Rs. 4,46,380.

Taking into account the norma

i i . 125
overhead cost was fecovered in production at Rs

per hour. The actual hours worked were 2,93,104. H(.)w
eed to close the books of accounts, assurming
PTO.
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at besides 7,800 units produced (of which 7,000
i were

sold thele were 200 (< uiva]ent units WOr k-lll- pro; SS.
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Investigation, it wags found that 50% of the unabsorbed
rbe

overheads were on account of inerease in co,
material and indirect Iabour and the
due to factory ineﬁicicncy. Also give
of the method suggested.

st of indirect
remaining 50% were
the profit implication
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(a) What are the methods of secondary distribution of
overheads? Explain these methods briefl .
Services,
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.., (b) A manufacturing unit has added a new machine to its fleet

3138

of five existing machines. The total cost of purchase and
installation of the machine is Rs. 7,50,000. The machine
has an estimated life of 15 years and expected to realise
Rs. 30,000 as scraﬁ at the end of its working life.

Other relevant data :

Budgete& working hours is 2,400 based on 8 hours per
day for 300 days. This includes 400 hours for plant

maintenance. Electricity used by the machine is 15 units

" per hour at a cost of Rs. 2 per unit. No current is drawn

during maintenance. The machine requires special oil for
heaﬁng which is replaced once every month at a cost of
Rs. 2,500 on each occasion. Three operators control the
operations of the entire battery of six machines and the
average wage per person is Rs. 450 per week plus 40%
fringe benefits. Estimated cost of machine maintenance
is Rs. 500 per week of 6 working days. Departmental
and general overheads allocated to the operation during
the last year were Rs. 60,000, During the current year, it
is estimated that there will be an increase of 12.5% of
this amount. No incremental overhead cost is envisaged
for installing the new machine. Compute the
4 compreh'ensive machine hour rate of recovery of the

running cost of the machine.
" s PTO.
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of M, N and O respectively. The re-order levels of M as *d
N are 15,000 kg and 10,000 kg respectively while minimum
level of O is 2,500 kg. The weekly production of X varies

" from 300 to 500 units while weekly average production is
400 units. The following additional data are given:

M N (o}

Reorder Quantity (kg) 20,000 15,000 20,000
Delivery (in weeks)

Minimum 2 4 3

Average -3 5 4

Maximum : 4 6 5
Compute :
() Minimum stock level of M
() Maximum stock level of N S
(i) Reorder level of O

(iv) Average stock level of M.

0% IR X & i §9 =i amiEl M, N @@ o
& forar omar ¥ 1 X & WAS @R A M, N @@ O #
A 10 fouto, 8 o waT 6 fme Y STATEEM
Bt ¥ M T N TT ARY R OAAW: 15,000
faamo = 10,000 R ¥ ¥R 0 @ FreEw WX
2500 fFTo ¥ X &1 wTEfE S@rET 300 & 500
THEdl 9 faave war § els oft|d qrats
IO 400 3FE ¥ P e wied wawe ¥
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following figures have been extracted from the Financial

counits of V Lid. for the first year of operation :

<t Material Consumption : Rs. 50,000; Productive wages :

. 30,000; Factory overheads : Rs. 16,000, Administration
heads — Rs. 7,000; Selling and distribution overheads —
.9,600; Bad debt written off — Rs. 800; Preliminary expenses
itten off — Rs. 400; Legal charges — Rs: 100; Dividend
eived — Rs. 1,000; Interest received on bank deposits —Rs.
; Sales (12,000 units) Rs. 1 ,20,000; Closing stock of finished
(400 units)—Rs. 3,200; Closing stock of work-in-progress
. 2,400.

e cost accounts for the same period reveal that direct material

sumption was Rs. 56,000.Factory overheads is recovered

PTO.
1
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Product X is obtained after it passes through three distinct

processes. Following information for week ending 31 October

is given:

Particulars Process I Process I Process IIT Total
Direct Material (Rs.) 2,600 1,980 2962 7,542
Direct Wages (Rs.) 2,000 3,000 4,000 9,000
Production Overhead (Rs.) 9,000

3138

1,000 units at Rs. 3 each were introduced in Process 1. There
was no stock of material or work in progress at the beginning
or at the end of the period. The output of each process passes
direct to thenext process and finally to finished stock. Production
overhead cost is recovered on 100% of direct wages. Additional

information :
14
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Proces.; Output  %age of normal Value of scrap
(units) loss of input per unit (Rs.)

I 950 - 5% ) 2
II 840 10% 4
I 750 15% 5

Prepare three Process Accounts, Abnormal loss/gain Accounts,
Normal loss Account. 15

T X A R il ¥ Tt & wr T @ oy
¥l 31 IRT H wAw ga® B e Fe gE Suwe
¥

Rl wRemn WM gw
el (Bo) 2600 1980 292 7542
Aorglt (o) 2,000 3000 . 4000 9,000
SR (%) 9,000
4far 1 & 3 To ufiy st @ X & 1000 sHrEa wAW HE

S st B arew § At e A weht @ 9 o @
aeffaffa sareT 98 a1 s ubbw 3 saT @9
§ sl sfe & s ¥ ok R o F dan aw @ w

| IR IR A T FL BT 100% R ST

1 afefte ged

W SO arm o s Rz =1 7=
(@) oy @ wftwee wfy @ (so)

I 950 5% 2
II 840 10% 4
I . 750 15% 5
15 PT.O.
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Write notes on : |
(a) Methods of apportionment of joint costs cver joint products
(b) Treatment of Research and Development costs in cost

accounts

(c) Slow, Non-Moving and Obsolete materials.

fer X A ool fof .
(a) T TR W HIR @Al B e P Qferat \
(b) wmTE WET ¥ ST U R A #OS9ER '
" (o) Nl amfasfie el amiigt 16
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